Losungen zu LGS 1

a)

b)

d)

f)

9)

h)

)

3x+5y=41
2x +y =18/ (- 5)

6x -5y=-4
2x+y=45

1
X+—=y=43

3V
3 2

Sx-Z2y=515
5" 3y|

03x+0,9y=12-10
4x+4y =8

5x +7y=-1-3
3x + 2y =-5|- (- 5)

2x-6y=-4
2x -4y =2-(-1)

8x —y =15 (- 9)
12x -9y =15

3X+5y-z=7
2X—-3y+2z=-6
7X+8y+z=3

4x—-2y+3z=8
X—-5y-z=12
X+2z=3

X—2y=-2
3X—-2z=4
2y+z=-4

AV => L ={(7:4)}

AV => L ={12)}

3x+y=12-10

AV => L ={(5-3
9x -10y =75 {( »

3x+9y=12}4

ax+ 4y =8 (- 3) AV => L = {(11)}

AV => L ={-32)}

AV => L ={(73)}

AV => L ={(21)}

I+ 111=>1V 10x+13y =10 und |- 2+ |l =>V 8x + 7y =8

IV-4+V-(-5) => L={10-4)

I-5+11-(-2)=>1V 18x +172 =16

- (-18)+1v => L={(-1-32)}

[+ 1=V x+z=-6

N+1V-2 => L= {(— 1,6;0,2;—414)}



